
How many calories are in 
your glass of alccohol? 

Match the alcoholic drink with the food that has the 

same amount of calories in it. 
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1 Large glass of wine =  

2 bottles of Heineken beer =  
1 glass of champagne =  

1 alcopop =   

1 Pina colada cocktail =  

1 pint of cider =  



 

 

 

 

 

 

Answers: 

1 Large glass of wine = 3 

1 Pint of cider = 5 

1 Pina colada cocktail =4 

1 Alcopop = 1 

2 Bottles of Heineken = 6 

1 Glass of champagne = 2 

 

Resource created by young people and staff associated with Solent Youth Action as part of the ‘Mind the 
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